= A
N = 0 &8 AFH Y & A AN
20148 & =& 2 g LU A JIEISESH M
2A-: M2
MM THARZZ| 2 3 H A2l
SRl A2t (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
T2 o 4,655,033 4,581,331 73,702
A2 2] 9F 3| A A 2 4,135,931 4,062,229 73,702
THar 22 4,048,471 3,974,769 73,702
HALzHe| 2,918,499 2,848,499 70,000
401 AlEHIZ =20 2,170,000 2,100,000 70,000
01 Al&H| 2,150,852 2,075,604 75,248
OAtMEESSE D HHZ A 60,000,000 60,000 0 60,000
0201438 WXAEs Bt 20,000 0 20,000
OBHAZRX 2282 HAEAMY 20,000 0 20,000
O=% 2L HM2E A FHy| 104,348,000 104,348 99,100 5,248
OCCTV SEZHMHH dHE2A 0 30,000 A30,000
02 2teldl 4,712 9,960 A5,248
OM2E A (HEAM) 21222 AFY 4,712,000 4,712 9,960 A5,248
2RI 22 333,568 329,866 3,702
101 124 H 18,219 14,517 3,702
04 JIZtRIZE2XEE2 18,219 14,517 3,702
OZSML MEHZEA L BPE MR AR
ol 3,702 0 3,702
-J|e2 41,680 *12 »63L 2,626 0 2,626
= 41,680 12 *12L 501 0 501
L P =, 41,6802 %12 »3L 126 0 126
—4UBEE 449,000 449 0 449
401 AlEHIZ =20 286,892 286,892 0
01 Al&HI 285,812 285,992 A 180
22X BHAX(ZS) WY 49,460 99,100 A49,640
OCCTVES Z M ME HE AAsY 29 49,460 0 49,460
03 Al& 2 HH 1,080 900 180
O2ZEX HAUX(Z2R) 540 900 A 360
OCCTVES ZHME HE AAsH 29 540 0 540




